FOM12 

Chapter 5 Review
Multiple Choice
Identify the choice that best completes the statement or answers the question.
____
1.
Select the independent events.

	A.
	P(A) = 0.21, P(B) = 0.57, and P(A  B) = 0.122

	B.
	P(A) = 0.8, P(B) = 0.52, and P(A  B) = 0.423

	C.
	P(A) = 0.74, P(B) = 0.85, and P(A  B) = 0.629

	D.
	P(A) = 0.46, P(B) = 0.9, and P(A  B) = 0.416


____
2.
Raymond has 12 coins in his pocket, and 9 of these coins are quarters. He reaches into his pocket and pulls out a coin at random. Determine the odds against the coin being a quarter.

	A.
	1 : 4

	B.
	1 : 3

	C.
	3 : 4

	D.
	3 : 1


____
3.
Julie draws a card at random from a standard deck of 52 playing cards. Determine the probability of the card being a diamond.

	A.
	 0.250

	B.
	 0.500

	C.
	 0.625

	D.
	 0.750


____
4.
From a committee of 18 people, 2 of these people are randomly chosen to be president and secretary. Determine the number of ways in which these 2 people can be chosen for president and secretary.

	A.
	2P2

	B.
	2P1

	C.
	18P2

	D.
	18P16


____
5.
Four boys and three girls will be riding in a van. Only two people will be selected to sit at the front of the van. Determine the probability that only boys will be sitting at the front.

	A.
	28.57%

	B.
	33.45%

	C.
	39.06%

	D.
	46.91%


____
6.
Yvonne tosses three coins. Determine the probability that at least one coin will land as heads.

	A.
	12.5%

	B.
	37.5%

	C.
	62.5%

	D.
	87.5%


____
7.
Select the events that are mutually exclusive.

	A.
	Drawing a 7 or drawing a heart from a standard deck of 52 playing cards.

	B.
	Rolling a sum of 4 or rolling an even number with a pair of four-sided dice, numbered 1 to 4.

	C.
	Drawing a black card or drawing a Queen from a standard deck of 52 playing cards.

	D.
	Rolling a sum of 8 or a sum of 11 with a pair of six-sided dice, numbered 1 to 6.


____
8.
Roena is about to draw a card at random from a standard deck of 52 playing cards. Determine the probability that she will draw a heart or a King. 

	A.
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	B.
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	C.
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	D.
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____
9.
Min draws a card from a well-shuffled standard deck of 52 playing cards. Then she puts the card back in the deck, shuffles again, and draws another card from the deck. Determine the probability that both cards are face cards.

	A.
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	B.
	[image: image6.png]169





	C.
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	D.
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____
10.
Select the events that are independent.

	A.
	Drawing a 10 from a standard deck of 52 playing cards and then drawing another card, without replacing the first card.

	B.
	Rolling a 4 and rolling a 5 with a pair of six-sided dice, numbered 1 to 6.

	C.
	Choosing a number between 1 and 20 with the number being a multiple of 3 and also a multiple of 9.

	D.
	Drawing a diamond from a standard deck of 52 playing cards and then drawing another diamond, without replacing the first card.


____
11.
Two cards are drawn, without being replaced, from a standard deck of 52 playing cards. Determine the probability of drawing a face card then drawing an even-numbered card.

	A.
	1.96%

	B.
	9.05%

	C.
	14.32%

	D.
	23.08%


Short Answer

1.
Josephine plays ringette. She has scored 3 times in 15 shots on goal. She says that the odds in favour of her scoring are 1 to 5. Is she right? Explain.

2.
Ashley has letter tiles that spell NAPKIN. She has selected three of these tiles at random. Determine the probability that the tiles she selected are two consonants and one vowel.

3.
The probability that Randy will study on Friday night is 0.3. The probability that he will play video games on Friday night is 0.7. The probability that he will do at least one of these activities is 0.9. Determine the probability that he will do both activities.

4.
Anneliese draws a card from a well-shuffled standard deck of 52 playing cards. Then she draws another card from the deck without replacing the first card. Determine, to the nearest tenth of a percent, the probability that both cards are red.

5.
Suppose that P(A) = 0.16, P(B) = 0.25, and P(A  B) = 0.04. Are events A and B independent? Explain.
Problem

1.
Conner hosts a morning radio show in Kenora. To advertise his show, he is holding a contest at a local mall. He spells out ONTARIO with letter tiles. Then he turns the tiles face down and mixes them up. He asks Gabe to arrange the tiles in a row and turn them face up. If the row of tiles spells ONTARIO, Gabe will win a new car. Determine the probability that Gabe will win the car. Show your work.

2.
There are 20 bikes in a spinning class. The bikes are arranged in 4 rows, with 5 bikes in each row. They hope to be in the same row, but they cannot request a specific bike. Determine the probability that all 5 friends will be in the same row, with Jeff and Dariya at either end. Show your work.

3.
The probability that a plane will leave Winnipeg on time is 0.80. The probability that a plane will leave Winnipeg on time and arrive in Calgary on time is 0.42. Determine the probability that a plane will arrive in Calgary on time, given that it left Winnipeg on time. Show your work.
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SHORT ANSWER

1.
ANS:


No. If Josephine had scored 3 times out of 15, then she had not scored 12 times out of 15. Therefore, the odds in favour are 3 : 12 or 1 : 4.


2.
ANS:
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3.
ANS:


“At least one” in this case is the same as saying EITHER studying OR playing video games.
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4.
ANS:
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5.
ANS:


Yes., because P(A)  P(B) = P(A  B) ( 
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PROBLEM

1.
ANS:


There are 7 letters in total: 2 O’s and 5 other letters.

Let L represent the total number of ways to arrange the letters.
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This is the total number of outcomes.

Let R represent the number of ways to spell ONTARIO. 

R = 1

You can spell ONTARIO in just 1 way. 

So, there is only 1 favourable outcome.

P(winning the car) = [image: image14.png]I




P(winning the car) = [image: image15.png]2520




The probability that Gabe will win the car is [image: image16.png]2520



.


2.
ANS:


There is an equal likelihood that any of the 20 bikes will be assigned to a participant, since specific bikes cannot be requested. 

Let F represent the event that the 5 friends are seated in any row.

The number of ways to seat Jeff and Dariya at either end is 2! or 2P2.

The number of ways to seat the other 3 friends is 3! or 3P3.

The number of ways to seat the other 15 people in the class is 15! or 15P15.

The total number of ways to seat the 5 friends in the first row is (2P2)(3P3)(15P15).

The total number of ways to seat the 5 friends in any row is 4(2P2)(3P3)(15P15).

The total number of ways to assign 20 people to 20 bikes is 20! or 20P20.
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The probability that all 5 friends will be in the same row, with Jeff and Dariya at either end, is [image: image18.png]33760



.


3.
ANS:


Let L represent a plane leaving from Winnipeg on time, and let A represent a plane arriving in Calgary on time.

P(L) = 0.80

P(L  A) = 0.42
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The probability that a plane will arrive in Calgary on time, given it left Winnipeg on time, is 0.525 or 52.5%.
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